HAE 15

M7 EEAATERIRAL
SHM7% 4 A
X B

O METHFHIRELIE. AXTHOA RURHOBELOREET 2ERETS (TH13%4 8
1BHEfT) FEEFRITEDEARTHLDTT,

OCCIHBBISRALIF, TM7F4AREDRBELTHSH., ERICHRITLIIENACOBEH L
ELGAGERFIZITBHESINTVWEVWIENRISINIGELHY FET,




BRmos
No I ® & W I E B % TESE | T %8 5 I x @ = gfﬁ‘é AHLESH
(RFF) - N N o
U EBEBTE AFERTE (R6HE) ST 10 78 |2A=R  |enT | T
RF) - B R T N o
2 |em%RTE AFAEGS (R7EE) ST 10 7R | ZA= lamT | TEEH
SRR - BT - RN RER S mgm
KEHILH FHIE - ZRE/NERBREESE N e e = B =) Ug 2
3 EE]%EQEI$ X HI&H-TET ﬁEEE 3 lTH B8, X\ EEH*&@EQEI% *El% 1:|=:/H:\H
A
KU - B - BANERBNETSZER |, BT e i y o
4 *%EQEI$ x %IJFEET #KET 3 lTH 8 X\ gnﬂ*&d)uilﬁl% *E% 1 :':'ﬁﬂ
FEHTHEY - B - HANERENEYISZH PR
5 n L [P =) iy 3 B |B&R ZHMDBREBELS P cES-¢
DXEI$
HIAHT
- 4oL - =] N e L g %%E
6 [romaar tFERRRERULSERENES |4 oy T2 3 vA |Bs LEROBETS a1 mEm
A
7 |EEH R RS EERIE TS T AT 3 48 |BS BEALEDIL T 5 % | 2
g |REMIATENFRENENS b LFRE R g 3 4R |[RE-® b LOZETH % |amem
XILHETE
o |[RRTLATTREREMS A LEL - HRE 2 pay 3 7R |RE-% | LOBEIH w2 | smEm
10 [BRESGILEETE /\REE AT 5 48 |thk—zt |BEREmET e | 2m
11 [EBERTE (%) HEEALRE AT 3 4R |@me L=230m | 2mem
12 [EBESIE (%) OA=ThE HIAHET 3 4R |@e L=200m w8 | 2
13 [EBEHTE (@) LARDTE BT 3 4R |@me L=110m 2 | 2mk
14 |BRESGILERTIE NSQEISE KT 4 2R |tk—2t |ERmEeT e | 2mk




BXE25
No I ® & W I % B W TEHM | T % E 5 I B ® = LA RU | AsLesn
15 |BREERILERTSE B )i miE F AT 4 78 |tk—= |ER@ET 154 | 2mwH
16 |BBERIE BEMARELRISRE 7 AT 3 #A |m L=120m w58 | 2mam
17 |EBHETE TXHe 2 45T 6 #A |th— |B2imE 8 | 1mkm
18 [ANMEHETIE Hinl K FRET 4 7R |[£R—=H MmET H# 2 a4
ERERTE (85 : . THEEE L=40n . .
19 e E ) Es AT S TR W= BEREELT. BT e | 3mEH
20 |KBHIBAAEEERISEDERNETS 7 EARAT 2 7B |ES TENIREUARERBORBELCTS \we | smym
(@)
21 |BKERBRIE AR ET 4 7R |£R—=HK HKEME L=90m B4 2 PO HA
(ANEINITR)
22 |RiAERETE $EEAT 4 7B |tk—=  |EEmE N=10E/F ta% R
2g |3 PYHAE BHARZFRUBRLIE (X1 )y myar " 6 7B |tA— |EHELEF L=5ITm — | amEm
24 |RUR— LKL THREBHTSE AT 6 vB |BS T UR— LR TSRS —f | omym
25 [BAERETE A 4 7R |xx- |ERERL o e | 3mEm
26 |BAEERTIE fEHRT 4 7B |tk—=  |[BEAEHEE L=30m ta% *




